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SET-3
Series BVM/3 o Nz. 64/3/3
qd .
qiereff wie gfeqsht & q@-

Candidates must write the Code on the
title page of the answer-book.

o THUAT I R W foh 38 Y97 H Hlgd I8 12 § 9T 2 I8 HHIH % 7 |

o TH-TA H M T A AR U MU FHe T H BH IW-Yfedd &k JEIE W
forg |

o HYA T B W fob 3 THA-TAH 22 T F |

o HUAT T H IW 1T I[E HI | UgeA, T T ShHATSH 7999 ford |

o IH YH-UA HI UG oh [T 15 e 1 T9F fon T 8 | WHA-UH 1 T qahg
T 10.15 & foham ST | 10.15 &1 & 10.30 S Ak DT shad I¥H-US h Ugn
3R 3G 79(Y & TR o IT-YREdeh! T I3 I T8 for@ |

e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (Hgr=ie)
GEOGRAPHY (Theory)
AeriRa ager : 3 o2 3EIHTH 37 : 70

Time allowed : 3 hours Maximum Marks : 70
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(i) FTHH-ITHFAL2FHE |

Gi) @ geT AT E

(iii) ¥o7 GEIT1 G 7 37fd TY-IFT F97 & | IAF J9T 1 3% BT & | IAP Jo7 BT
IR 40 V=51 @ e 75T FT =R |

(iv) 37 G&I1 8 T13 TY-ITHIT J97 & | J4% 97 3 37 & & | IA% Jo7 H
I 80-100 Vel & e 7E FHT WY |

(v)  ¥97 &I 14 T 20 FH-3T00F F97 & | 9% J97 5 b FT 8 | Idb 97 H7
IR 150 ¥Is5] G 37 787 5147 03T |

(i) I T&IT 21 1T T 1 GEET a9 IS A i & qeatid 8, 3e
gear 22 s e #1 1l @ 39gw gl @ @i @ gafia 8 | 39%
Y975 3B B 5 |

(vii) STT9H! 13T TT fava a1 GRA & IGT-FrlTA H FH-JIETH d GAT T
&/

(viii) IGI-FAE & Gl & 077 RI-aeT 1 2xaeied & I991T H1 3FHIT &1 1l
g/

General Instructions :
(1) There are 22 questions in all.
(it)  All questions are compulsory.

(iit) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(v) Question numbers 14 to 20 are long-answer questions carrying 5§ marks
each. Answer to each of these questions should not exceed 150 words.

(vi)  Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5§ marks each.

(vii) Outline maps of the World and India provided to you must be attached
within your answer-book.

(viit) Use of templates or stencils for drawing outline maps is allowed.
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WUE &
SECTION A
“Tfertur’ vTec <R fargewor shifsiw |

YT

“fafamior’ sree w1 fagaiwor hifsa |

Analyse the term ‘Mechanisation’.
OR
Analyse the term ‘Manufacturing’.

T 1w foha fRarehetta o 31=aid AT B ?
Which activity covers the work of a ‘Nurse’ ?

fifther SR g0 & T8 TeheuHT T YedToh hiTT |

Evaluate the concept introduced by Griffith Taylor.

RIS H FHGT 9 o1 T 1 feha T 2

Why was a seaport developed at Paradip ?

STt aiaed, Rl TR T ammft o uftasd & fofe waifess Sugw 9 8 ?

Why is water transport most suitable for carrying heavy and bulky
material ?

Wi & &9 | SfeErse hl a1 IUAAEr g 2

HAAAT
G weg b1 giTiyd i |
What is the utility of Bauxite as a mineral ?

OR
Define the term ‘Mineral’.

T qT T SfEqEl ° sIaE o ATYR YT 37X TIs hifoy |
e
ITIOT qem T SfEq § iHTioes GoEl o SR W 3Tl T8¢ iU |

Differentiate between Rural and Urban settlements on the basis of
occupation.

OR
Differentiate between Rural and Urban settlements on the basis of social
relationship.
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SECTION B

TERH SO HfW I fopmal o fomrwareti i ow@ ST | 1x3=3

Examine any three characteristics of ‘dairy farming’ in the world.

= fou e gl w1 aEgEigds st i it 3us A fiu T gt %
I ferfE 1+1+1=3

50

(9.1) 39 SIAHT <kl YT qT 39T 919 fAfgu |
(9.2)  IE THT foh N & BIehL ol B ?
(9.3)  TH I o 3Tk HETT hl TISE hHIfWT |
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9.1)
(9.2)
(9.3)
e :

Identify the waterway and name it.
Through which countries does this waterway pass ?

Explain the economic importance of this waterway.

HEFITIET 397 #acT GIBATIAT TheTier & o7g, Jo7 Gear 9 & € W& :
Note: The following question is for the Visually Impaired Candidates only,

in lieu of Q. No. 9 :

S99 IATANeh STHT ohl fohral A ToRISTST! ohl ¥9s¢ IV |

Explain any three characteristics of the Danube inland waterway.

5

Ix3=3

P.T.O.
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10. wHa T % A=W @l Il Qi i foheal oA fommarsti @1 e
IR | 1x3=3
Analyse any three features of countries with medium levels of human
development.

11. = feu 7u e <1 s1eeE Fifse 31t 3ues e few T g & s faifEe
Ix3=3

(11.1) 39 TF &1 9™ Terfage fed 97 3oura o9 fea 2 |
(11.2) 39 939 HI HH-G1 IGHT IiEed i g JgH Har g ?
(11.3) 9 3EUTd G o AT 31Tk o1 &I GId -1 8 ?




@
Study the diagram given below and answer the questions that follow :
1 Plant
Steel Pla ~
Balaghat
¥ =
Mahanadi River
/Z
L
eS +  Steel Plant
Dolomit
Dalli Rajhara Hills £ R
B Manganese
W’ Iron-Ore
.{/ Tandula Coul
Tank ¥ Iron
srwrwe Railway Line
(11.1) Name the State in which this steel plant is located.
(11.2)  Which rail route provides transport facilities to this plant ?
(11.3) What is the main source of power for this steel plant ?
iz :  Hrlkcikaa o7 Fac gieartaa ghgniaat @ 1, 397 G877 11 & €9 W E

Note: The following question is for the Visually Impaired Candidates only,

in lieu of Q. No. 11 :

ZTeT SEITd G4 <hl fehral i forersanat <h1 samean shifau |

Explain any three characteristics of Tata Steel Plant.

7

Ix3=3

P.T.O.
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12. YOR H SHYEAT o I 4 GgReh g Tohd dicd foheal o9 3UTAT Sl 3T
gfea s HifT | 1x3=3
HAAAT
TOR ¥ Jeiary S9ed o foaqr #i fhd JehRr ywifaa st 8 2 3gewn aigd
e HfS | 2+1=3

Explain with examples any three measures that can be helpful in
population control in the world.
OR

How does the climate influence the distribution of population in the
world ? Explain with examples.

13. 9Rd § ‘Toad Ui il 6l fohgl i foRINdisti &1 Jearehd hive | I1x3=3

HAAAT
IRd # T Sfeqei & fafie geri @l gwifad e atet HRel 1 HedTeh
HIfeT | 1x3=3
Evaluate any three features of the ‘clustered rural settlements’ in India.

OR

Evaluate the factors affecting the different types of rural settlements in
India.

Qs 1

SECTION C
14. STUSEE AR % T it 3grawen dfga saren S | 5

HAAAT
FAAT SAMR o YR o 4 § SHEEIT e I 3RO Hfgd T
HITT | 5

Explain with examples the development of International Trade.

OR

Explain with examples the population factor as the basis of international
trade.



16.

17.

18.

19.

20.

goR | fowmsiiar esn hi grefior sfeqal hr gaeaet &1 3eewn |fed T
élﬁlq | Ix5=5

Explain with examples the problems of rural settlements of developing
countries in the world.

‘ST g Ieg shi AT TAfET | SR H et MR 9 o SER |
3T TS HIT | 1+4=5
Define the term ‘Trading Centre’. Differentiate between ‘Retail Trading’

and ‘Wholesale Trading’ in the World.

ST GHTEAT o HEU % [T, I 9 TR hl fheal al Rl o "wEw
Juiq HIT | 21,915

2 2

Describe the importance of any two rainwater harvesting methods to
conserve water resources.

qfH % WA & STTER Y 1 A IR W S a7 | Ffiehd hHIWT | T
1 yg@ femrdren 1 aui i | 14242=5

Classify land according to ownership into two broad categories. Describe

the main features of each category.

IR § Y™ o I &A1, 3P YT e W US4 aret 1fes uftormi =1 qui
i | I1x5=5

Jroqa
ARG h! ST H Yar@ hl AT o al AR ol IgE@ hifeY | W H
=R T %! TR GRISTi Sl Tee HIT | 1+4=5

Describe the economic consequences of migration on both areas of origin
and destination in India.

OR

Mention the two bases of migration as enumerated in the Census of
India. Explain the four streams of internal migration in India.

‘el g9 | ‘wufa S T giEsen’ v fageor hifs | 5

Analyse the Integrated Tribal Development Project in ‘Bharmaur’ region.

641373 9 PO,



21. WER % fqu T veHifos WAEtE (I8 13 W), § gf9 Wik dsen w5 A,
B, C, D 3R E ¥ fegrn mn 3 | F=fafaa Sl i #ee @ 37 @&on A

Y <hifT 3T 39k Hal A 396 I Wikl s @it ® fafay : Ix5=5
A, I=A9 SHEEA gig T 9 o

B. YHEIETHE HfY w1 TH &

Cc. umfEdH

D. &I%d ohl giee & HETGY 1 Th QT ol

E. 3qUsd gaTs IoH

On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
these features with the help of the following information and write their
correct names on the lines drawn on the map near them :

A. The country having highest growth rate of population

An area of Mediterranean agriculture

A Mega city

A large country of the continent in terms of area

= o 0w

An international airport

g :  FAEIGT FeT A giREnaad ghgntdel & 07, Je7 ge 21 @ €9
WE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) HOR H I=aH SHEEA gig T el oo & AW fafaw |

(21.2) 3o & foret T yHemETE Y & 1 9m fafaw |

(21.3) 9 & et W 7 T4 o1 9 forfaw |

(21.4) IR W # &ha i gfee ¥ ToH FST W HH-AT 7 ?

(21.5) gferor srafeRT o fopelt e TS Ay a1 A faifaw | Ix5=5
(21.1) Name the country having the highest growth rate of population

in the world.
(21.2) Name any one area of Mediterranean agriculture of Australia.
(21.3) Name any one Mega city of Japan.
(21.4) Which is the largest country in terms of area in North America ?

(21.5) Name any one international airport of South America.

647313, 10
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22. WA % QU U TSHIfae W@-AFRE (I8 15 W), # Hefaiad Wi aeon
U ¥ fbegt grer ! 3uTH @l ¥ guIisy 3R Ik A fafaw Ix5=5

(22.1) WHE [ Ik § Fai= M I TS
(22.2) WY FHEEIT T (2011) ITAT TS
(22.3) HITheH T STV IcaTEeh U

(22.4) SATSHAT — g I T &

(22.5) USTE H dA MY HREH!

(22.6) HTeH H AT I IJEM hrg

(22.7) 7Y YW § YHE AL ITH
(22.8) qd-ufeem Tferan 1 g DR 1 TAH

Locate and label any five of the following geographical features on the
political outline map of India with appropriate symbols (on page 15) :

(22.1) The State having the highest rank in the Human Development
Index

(22.2) The State having highest population density (2011)
(22.3) The leading groundnut producer State

(22.4) Bailadila — iron ore mines

(22.5) An oil refinery in Punjab

(22.6) A centre of cotton textile industry in Karnataka
(22.7) The major seaport in Andhra Pradesh

(22.8) The eastern terminal station of East-West Corridor

641313 11 P.T.0.
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g :  HAelciEa 397 dac glEEad ghentdel & 070, 397 G&9r 22 @ T W
& | fabgl uiar 7] & R [1&q |

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 22. Attempt any five questions.
(22.1) R 1 HIH-A1 TsT G foh™ Foehish § Tai= $IH W g ?

(22.2) WA o fohd TT § SIAGEAT 1 Bcd (2011) TaTfee 8 ?

(22.3) WRA H YThell 1 ST IcuTEeh TST HH-H1 3 ?

(22.4) SATMSAT — TlIg 3TAEH G & fohm T 0 e 8 2

(22.5) U H fEdA T WA HREH 1 AW IRET |

(22.6) e | feuq forelt wen Ft o 3T gy o1 AW fAfem |

(22.7) 3Ny YW ¥ ¥ yq@ Tl uaq o1 AW forfau |

(22.8) TA-UfTem TR o Yo BR o TIM & 99 AT | 1x5=5

(22.1) Which State of India has the highest rank in the Human

Development Index ?

(22.2) In which State of India is the density of population (2011) the
highest ?

(22.3) Which State of India is the leading producer in groundnut ?
(22.4) In which State are the Bailadila — iron ore mines located ?

(22.5) Name the oil refinery located in Punjab.

(22.6) Name any centre of cotton textile industry located in Karnataka.
(22.7) Name the major sea port located in Andhra Pradesh.

(22.8) Name the easternmost place of East-West Corridor.

647313, 12
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I F. 22 % forw For question no. 22
A T {@T-HHrA (TTifae)
Outline Map of India (Political)
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